
§·¤æ§ü / Unit-I

1. çßîæèØ çßßÚU‡ææð´ ·ð¤ çÙßü¿Ù âð ¥æÂ @Øæ â×ÛæÌð
ãñ´U? çßßÚU‡ææð´ ·ð¤ çÙßü¿Ù ãðUÌé ·¤æñÙ-âè Âýç·ý¤Øæ°¢
¥ÂÙæØè ÁæÌè ãñU?

ED-2046
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Group - II

Paper - II

Management Accounting

Time : Three Hours] [Maximum Marks : 75
[Minimum Pass Marks : 25

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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What do you mean by interpretation of
financial statements ? What procedures are to
be adopted in interpreting the statements.

¥Íßæ / OR

çÙ`Ù â×¢·¤æð °ß¢ ¥ÙéÂæÌæð ´ âð ·¢¤ÂÙè ¥çÏçÙØ×,
w®vx ·¤è ¥Ùéâê¿è III ·ð¤ ¥ÙéâæÚU ç¿_ïUæ °ß¢ ÜæÖ-
ãUæçÙ çßßÚU‡æ ÌñØæÚU ·¤èçÁ° Ñ

G
¥¢àæ Âê¡Áè |,w®,®®®

·¤æØüàæèÜ Âê¡Áè w,zw,®®®

ßñ´·¤ ¥æçÏ@Ø y®,®®®

çÎ¹æßÅUè â¢Âçîæ ·¤æð§ü ÙãUè´ ãñUÐ ¿æÜê â¢Âçîæ ×ð´
S·¤‹Ï ÃØæÂæÚUè·¤ ÂýæŒØ ¥æñÚU ÚUæð·¤Ç¸U ·ð¤ ¥çÌçÚU@Ì
·¤æð§ü â`Âçîæ ÙãUè´ ãñUÐ ¥¢çÌ× SÅUæò·¤ ÂýæÚ¢UçÖ·¤ SÅUæò·¤
âð w®' ¥çÏ·¤ ãñUÐ

¿æÜê ¥ÙéÂæÌ w.z

ÌÚUÜ ¥ÙéÂæÌ v.z

Sßæç×ˆß ¥ÌéÂæÌ ®.|

â·¤Ü ÜæÖ ¥ÙéÂæÌ w®'

S·¢¤Ï ¥æßÌü y
ÃØæÂæçÚU·¤ ÂýæŒØ ¥æßÌü x{.z çÎÙ

àæéh ÜæÖ ·¤è ¿é·¤Ìæ Âê¡Áè ÂÚU ¥ÙéÂæÌ v®'
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( 3 )

From the following figures and ratios make
out the Balance Sheet and statement of
profit & loss as per schedule III of companies
Act, 2013 :

(a) Share Capital 7,20,000

(b) Working Capital 2,52,000

(c) Bank Overdraft 40,000

There is no fictitious assets. In current assets
there are no assets other than inventories,
trade receivables and cash. Closing inventory
is 20% higher than the opening inventory.

(i) Current Ratio 2.5

(ii) Liquid Ratio 1.5

(iii) Proprietary Ratio

(fixed ratio + proprietary fund) 0.7

(iv) Gross Profit Ratio 20%

(v) Inventory turnover 4

(vi) Trade Receivables turnover 36.5 days

(vii) Net profit to paid-up capital 10%

§·¤æ§ü / Unit-II

2. ·¤æðá ÂýßæãU çßßÚU‡æ ·ð¤ â¢Õ¢Ï ×ð´ ·¤æðá °ß¢ ÂýßæãU
·¤æð â×Ûææ§°Ð ·¤æðá ÂýßæãU ·ñ¤âð ÌñØæÚU ç·¤Øæ ÁæÌæ
ãñU?
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( 4 )

Define the term fund and flow in respect of
a fund flow statement. How is a fund flow
statement prepared ?

¥Íßæ / OR

çÙ`ÙçÜç¹Ì çßßÚU‡æ âð ·¤æðá ÂýßæãU çßßÚU‡æ ÌñØæÚU
·¤èçÁ° Ñ

â`ÂçîæØæ¡ w®v~ w®w®
(G) (G)

ÚUæð·¤Ç¸U w,z®® v,®®®

ÎðÙÎæÚU v|,®®® w®,®®®

ÚUãUçÌØæ vw,z®® vv,®®®

Öêç× vz,®®® w®,®®®

ÖßÙ w®,®®® ww,z®®

×àæèÙ y®,®®® yx,®®®

v,®|,®®® v,v|,z®®

ÎæçØˆß

ÜðÙÎæÚU v®,®®® vw,®®®

ÎðØ çÕÜ },®®® },z®®

Õñ´·¤ «¤‡æ vz,®®® ww,z®®

Âê¡Áè |y,®®® |y,z®®

v,®|,®®® v,v|,z®®
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ßáü ·ð¤ ÎæñÚUæÙ ©UÂ·ý¤×è mæÚUæ ÃØç@Ì»Ì ÂýØæð» ·ð¤
çÜ° G v},®®® ¥æãUçÚUÌ ç·¤° »°Ð ×àæèÙ ÂÚU OïUæâ
·ð¤ çÜ° ÂýæßÏæÙ xv ×æ¿ü, w®v~ ·¤æð G vz,®®®
°ß¢ xv ×æ¿ü w®w® ·¤æð G v~,z®® ç·¤Øæ »ØæÐ

From the following particulars prepare funds-
flow statement :

Assets 2019 2020
(G) (G)

Cash 2,500 1,000

Debtors 17,000 20,000

Stock 12,500 11,000

Land 15,000 20,000

Building 20,000 22,500

Machinery 40,000 43,000

1,07,000 1,17,500

Liabilities

Creditors 10,000 12,000

Bills Payable 8,000 8,500

Bank Loan 15,000 22,500

Capital 74,000 74,500

1,07,000 1,17,500
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During the year drawing by the proprietor for
personal use amounted to G 18,000 provision
for depreciation on machinery stood at
G 15,000 on 31st March, 2019 and G 19,500
on 31st March, 2020.

§·¤æ§ü / Unit-III

3. â× çß‘ÀðUÎ çÕ¢Îé @Øæ ãñU? §â·¤è »‡æÙæ ·ñ¤âð ·¤è
ÁæÌè ãñU?

What is B.E.P. ? How it is calculated ?

¥Íßæ / OR

°·¤ ßSÌé ·ð¤ ©UˆÂæÎÙ ×ð´ ·¤æØüÚUÌ °·¤ Èñ¤@ÅþUè È¤ÚUßÚUè,
w®v~ ×æãU ·ð¤ çÜØð çÙ`ÙçÜç¹Ì âê¿Ùæ°¡ ÂýSÌéÌ
·¤ÚUÌè ãñ´ U Ñ

âæ×»ýè ·¤è Üæ»Ì G v,w®,®®®

Ÿæ× Üæ»Ì G w,y®,®®®

SÍæØè ©ÂçÚUÃØØ G v,w®,®®®

ÂçÚUßÌüÙàæèÜ ©ÂçÚUÃØØ G {®,®®®

ÂýçÌ §·¤æ§ü çÕý·¤è ×êËØ G z®

©UˆÂæçÎÌ §·¤æ§Øæ¢ vw®®®
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©UÂÜµÏ ßÌü×æÙ ÿæ×Ìæ ÂÚU w®®®® §·¤æ§Øæ¢ ÂýçÌ×æãU
©UˆÂæçÎÌ ·¤è Áæ â·¤Ìè ãñ´ UÐ È¤×ü ·ð¤ Âæâ °·¤
»ýæãU·¤ mæÚUæ z®®® ¥çÌçÚU@Ì §·¤æ§Øæð´ ·¤æð G y®
ÂýçÌ §·¤æ§ü ·¤è ÎÚU âð ·ý¤Ø ·¤æ ÂýSÌæß ãñUÐ °ðâæ
¥Ùé×æÙ ãñU ç·¤ §â ÂýSÌæß ·¤è Sßè·ë¤çÌ mæÚUæ âÖè
©UˆÂæçÎÌ §·¤æ§Øæð´ ÂÚU âæ×»ýè Üæ»Ì ×ð´ G v ÂýçÌ
§·¤æ§ü Õ¿Ì ãUæð»èÐ ÂÚU‹Ìé SÍæØè ©UÂçÚUÃØØ ×ð´
G xz,®®® ·¤æð ßëçh ãUæð ÁæØð»èÐ ØãU Öè ¥Ùé×æÙ
ãñU ç·¤ ·¤æØü ÿæ×Ìæ ×ð´ ¥æ×ÌæñÚU ÂÚU w' ·¤è ·¤×è
¥æØð»è ¥æñÚU ÂçÚU‡ææ× SßM¤Â Ÿæ× Üæ»Ì ÌÍæ
ÂçÚUßÌüÙàæèÜ ©UÂçÚUÃØØ ©Uâè ¥ÙéÂæÌ ×ð´ ÕÉ¸U ÁæØð»èÐ

¥ÂÙè â¢SÌéçÌ ÎðÌð ãéU° ç·¤ ÂýSÌæß ·¤æð Sßè·ë¤çÌ
ÂýÎæÙ ·¤è ÁæÙè ¿æçãUØð Øæ ÙãUè´Ð ÂýÕ¢Ï ·ð¤ çÜ°
°·¤ ÂýçÌßðÎÙ ÌñØæÚU ·¤èçÁ°Ð

A factory manufacturing a product presents
the following information for the month of
february, 2019 :

Cost of materials G 1,20,000

Labour cost G 2,40,000

Fixed overheads G 1,20,000

Variable overheads G 60,000

Selling price per unit G 50

Units produced 12000

( 7 )
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From the available present capacity 20000
units per month can be produced. The firms
has an offer from a customer to buy 5000
additional units a price of G 40 per unit. It is
expected that by accepting this offer, there
will be a saving of G 1 per unit in the cost of
materials on all units manufactured but fixed
overheads will increase by G 35,000. It is also
anticipated that the over all efficiency will
decrease by 2% on all production and
consequently labour cost and variable
overheads will increase accordingly.

Draft a report to the management giving your
recommendation as to whether this offer
should be accepted.

§·¤æ§ü / Unit-IV

4. ÕÁÅUÚUè çÙØ¢˜æ‡æ @Øæ ãñU? §â·ð¤ SÍæÂÙ ·ð¤ çÜ°

©UÆUæØð ÁæÙð ßæÜð ¥æßàØ·¤ ·¤Î×æð´ ·¤è çßßð¿Ùæ

·¤èçÁ°Ð

What is Budgetary control ? Discuss the
necessary steps which are taken for its
installation.

¥Íßæ / OR

( 8 )

DRG_2_(11) (Continued)



w®w® ·ð¤ ×æãU ÁÙßÚUè ·ð¤ çÜ° çÈ¤çÙ@â çÜ0 ·¤æ
çß·ý¤Ø ÕÁÅU çÙ`Ù ·¤æð ÎàææüÌæ ãñU Ñ

©UˆÂæÎÙ ×æ˜ææ çß·ý¤Ø ×êËØ ÂýçÌ ç·¤0»ýæ0
(G)

A wz®® ç·¤0»ýæ0 x

B vwz® ç·¤0»ýæ0 w

C w®®® ç·¤0»ýæ0 w.z

©Uâè ×æãU ×ð´ ßæSÌçß·¤ çÕ·ý¤è Íè Ñ

©UˆÂæÎ A w®®® ç·¤»ýæ0 G z,z®®

©UˆÂæÎ B v|z® ç·¤»ýæ0 G x~x|.z®

©UˆÂæÎ C ww®® ç·¤»ýæ0 G y,~z®

çß·ý¤Ø çß¿ÚU‡ææ¢àæ ·¤æ çßàÜðá‡æ ·¤èçÁ°Ð

The sales budget of Phinex Ltd. for the month
of January, 2020 indicates the following :

Product Qty Selling Price per kg.
(G)

A 2500 kg 3

B 1250 kg 2

C 2000 kg 2.5

( 9 )
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During the said month the actual sales were :

Product A 2000 kg for G 5,500

Product B 1750 kg for G 3937.50

Product C 2200 kg for G 4,950

Analyse the sales variances.

§·¤æ§ü / Unit-V

5. çß¿ÚU‡æ çßàÜðá‡æ @Øæ ãñU? @Øæ °·¤ ¥Ùé·ê¤Ü
çß¿ÚU‡æ âÎñß ãUè ÂçÚU¿æÜÙ ·é¤àæÜÌæ ·¤æ ÂýÌè·¤
ãñU?

What is variance analysis ? Is a favourable
variance always in indicator of efficiency in
operation ?

¥Íßæ / OR

z® §·¤æ§Øæð´ ·ð¤ çÙ×æü‡æ ãðUÌé Âý×æÂ ç×Ÿæ‡æ çÙ`Ù
Âý·¤æÚU ãñU Ñ

(a) z ç·¤»ýæ0 @ G }

(b) vz ç·¤»ýæ0 @ G y

ÁÙßÚUè ×æãU ·ð¤ °·¤ âŒÌæãU ·ð¤ |w®® §·¤æ§Øæð´ ·¤æ
çÙ×æü‡æ ãéU¥æ ¥æñÚU çÙ`Ù âæ×»ýè ÂýØé@Ì ãéU§ü Ñ

(a) {®® ç·¤»ýæ0 ÂýçÌ ç·¤0»ýæ0 G |

(b) w®® ç·¤»ýæ0 ÂýçÌ ç·¤0»ýæ0 G z
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âæ×»ýè Üæ»Ì çß¿ÚU‡æ ×êËØ, ×êËØ çß¿ÚU‡æ, ç×Ÿæ‡æ
çß¿ÚU‡æ ÌÍæ ©UˆÂæçÎÌ ×æ˜ææ çß¿ÚU‡æ ·¤è »‡æÙæ
·¤èçÁ°Ð

The standard mix for the production of 50
units is :

(a) 5 kg @ G 8

(b) 15 kg @ G 4

During a week in January 7200 units were
produced and materials used were :

(a) 600 kg @ G 7

(b) 200 kg @ G 5

Calculate material cost variance, price
variance, mix variance and yield variance.

———
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